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1. Complete the sentence by using a word from the following words :

The cashier the money and signed a receipt for it.
A) Collects B) Accepts C) Counted D) Receives
2. Choose the correct passive voice from the following sentences.
A) He was given a gift by Rita B) He gives a gift by Rita
C) He gave a gift by Rita D) He was giving gift to Rita
3. Choose the group of words which is most nearly the same in meaning as of the word
Revolutionize
A) Affect adversely B) Develop gradually
C) Change drastically D) Illuminate completely
4. Which is correct use of adverb ?
A) Honey is very sweet B) Honey is too sweet
C) Honey is so sweet D) Honey is much sweet

5. Which is correct use of preposition ?
A) She is married with rich man B) She married with rich man
C) She is married to a rich man D) She had married with rich man

6. She is working in an exclusive male dominate domain. How this sentence can be written
by removing gerund ? Select correct sentence from following.

A) She work in an exclusive male dominated domain
B) She works in an exclusive male dominated domain
C) She worked in an exclusive male dominated domain
D) None of these are correct

7. Rewrite the sentence by using proper conjunction.
Mohan was young, he went to Africa.

A) But Mohan was young, he went to Africa

B) When Mohan was young, he went to Africa

C) That Mohan was young, he went to Africa

D) Hardly Mohan was young, he when went to Africa

8. Choose correct Tense Form that is used in the following sentence.
We had been playing in the Park.

A) Past perfect continuous tense B) Past continuous tense
C) Present perfect continuous tense D) Past perfect tense
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Select grammatically correct sentence.
A) Karachi is Sindh’s seaport B) Karachi is the seaport of Sindh
C) The seaport of Sindh is Karachi D) The Karachi is Sindh’s seaport

Which is correct use of verb ?
A) My brother lived in Mumbai since 1930
B) My brother has lived in Mumbai since 1930
C) My brother is lived in Mumbai since 1930
D) My brother have lived in Mumbai since 1930

Name the correct clause bracket in the given sentence.
He is (much) obliged to you.

A) Noun clause B) Co-ordinate clause

C) Positive adverb clause D) Adverb clause of reason

Name conjunction from the sentence :
Ganesh does not care whether his wife goes out of home.

A) Whether B) His C) Outof D) Care

Nothing else travels so fast as light (Make comparative and choose correct answer).
A) Lightis traveler than any other thing
B) Light travels faster than anything else
C) Light is faster traveler than nothing
D) Light is travelers faster as anything

Pick up correct sentence.
A) When the meeting been start ?
B) When the meeting would start ?
C) When the meeting will be starting ?
D) When the meeting will start ?

Choose the word from given words to fill in the blank to make the sentence meaningful.
No sooner he arrived then everyone up in his honour.

A) Stood B) Stands C) Stand D) Got
e ST ata widt ueft

A) S B) JFd C) & D) I3 3T
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17. GTefierisht shIvre UTHes dieresi uRii= 1t gl ¢

A) TR B) wia C) M= D) &
18. WIeAIcTdsh! hIvret T TG I T8 Faeard 2

A) T Heh B) dftrEm C) b D) HERM
19. Giefierieh HIvTeT ST ST YRIUhgA ST fohrT 2 uedl ?

A) 3 AT B) SHccAT A

C) U T D) T ST
20. TS FHUIATT THUT 33 HOIGh AT . AT HUTh HTAd JTHAT.

A) I/ B) o C) o D) &0
21. Erelictish! S Tefia Fgna sfaet WU deigd S ?

A) URRIgE B) el C) ¥ D) wgfie
22. TTIRET=AT YRRt TR SHTor febelt 378 ? |

A) ¥o Tah B) ¢ C) 23T D) 3% 3&h
23. T TETIATET TAT 378 HIEard.

A) GeRyiE offtg B) w1sfis ife

C) U HrRATSe D) GifeaH-aR-FEe
24, ATCHTWE 37 SATSIERL Qufiet g1 8. i

A) Faftieren B) SamEE=Al C) Hg=A D) =l
25, T foreft e SR 318 rEed foot Y, s gEtied deagd s e .

A) FIH B) g C) WEeHy D) fiesd
26. AT s Uttt HHm g BB,

A) WA B) iehic C) uffereat D) TR
27. Tt fagma ues feal.

A) femue B) U C) esn D) Fau
28. RIS Tl GATSH HIS=me Wi 7 LTS ST,

A) A B) T C) Tierefien D) R
29. frsmim IqTes Bl

A) T B) farsmog C) sierta D) 3giee
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A) 3T G Sheft 38, B) 315 SaYSIT shild Bl
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61. Taurodontism is a dental anomaly affecting
A) Size of tooth B) Shape oftooth C) Number of teeth D) Structure of teeth
eifZem & <a fergrdt e afom
A) TAHE AERAE  B) SAEIAGR  C) I G&A D) Qv
62. Genioglossus muscle is attached to
\ A) Mental protuberance B) Lingula
J C) Genial spindle D) Genial tubercle
SR T ATel Sigae 1daTd
A) Teet Tegaed B) ferer
C) St ferea D) Sifae eeeha
63. Deficiency of iron in body is called
A) Diabetes B) Ironaemia C) Anaemia D) None of the above
RmH T TR Al 1 U 7
A) TgIE B) g ugl
C) gl D) ARl SIvae! ATl
64. Cell rests of Mallassez is present in _
A) Pulp B) Periodontal ligament C) Enamel D) Gingiva
AT A T2 AHEA I7EATd '
A) HSST B) ufeee fermie C)3ad D) f&te=n
65. Hunter-Schreger bands are an optical illusion seen in
) A) Cementum B) Dentine C) Enamel D) Pulp
) -V gH & ATHED INTEBVIN AT ehed oGS TR
' A) R B) S=igA C) Ha D) WSSl
66. The largest of the three divisions of trigeminal nerve is
A) Facial nerve B) Mandibular nerve
C) Maxillary nerve D) Mental nerve
Feifire Srarean o faummideh geta TiaT 9§t v ?
A) eI =T B) Sere=Irel =
C) <=1 ESTE an D) ATafes A
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. The unit of measurement in bacteriology is

A) Micron B) Meter C) Centimeter D) None of the above
ettt Tefiet HISTHTY HTuaT= Teheh 10 ? -

A) TRTRA B) i C) et D) sl shivrae! et
Vitamin D deficiency in children is called as

A) Pellagra B) Osteomalacia C) Rickets D) Scurvy
A T SataT=an Faatde i T ¢

A) Yemn B) atfeanafirn C) faem D=l
Method of destroying infected waste material is

A) Autoclave B) Hotairoven  C) Sunlight D) Incinerator
Heheh Fa=ATl facaare swvarh ggd v ?

INKEIGICRE B) THEdH 3ffegd ) AT D) R
Enamel hypoplasia can be caused due to deficiency of

A) Vitamin A B) Vitamin B C) VitaminC D) Vitamin D
A SRITICATIRRT ST HHAtages e 0T 8 Tk ?

A) SfigFaE A B) Sftemda B C) SfladaeE C D) Sfiaqd@ D
Universal recipient blood group is

A) Blood group A B) Blood groupB C) BloodgroupO D) Blood group AB
HIVTAT TS 3l TTreha 3T 7

A) THEA B) T'E B C) WO D) THEAB
Molybdenum focusing cup with a tungsten filament in X-ray tube serves as

A) Cathode B) Anode C) Filter D) None of the above
T - SemHid S fhariens Aicisdim Shsia %9 %/ [ %1 Hta) ?

A) FO B) e C) fhear D) aierdshi shivrdel ATl
Presence of protein in urine is called

A) Anuria B) Albuminuria  C) Polyuria D) Oliguria
TEHEN U1 ST T T FETdTd ?

A) TgiEn B) sesgfgfan  C) wichigfan D) afferghan
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74. Recommended NaF concentration for in-office use caries prevention is

C -011-11

A) 2% B) 3% C) 4% D) 5%
HETRATAT AT ATRETST RTHRE Fetedt NaF Hefme s s shefl STl ¢
A) 2% B) 3% C) 4% D) 5%
75. Function of silica in dentifrice is
A) Flavouring agent B) Foaming agent
C) Anti-caries agent D) Abrasive agent
Sea st facfier & s TR ?
INR SEIUR ST B) ®Ifiius=
C) HA-HS T D) Usftausie
76. Fluorides and pit and fissure sealants for caries prevention are
A) Primary prevention B) Specific prevention
C) Secondary prevention D) Tertiary prevention
A) Wi s B) fafirss=ma
C) g@m 4T D) i s
77. Which of the following brushing technique is recommended in children ?
A) Bass technique B) Charter method
C) Stillman technique D) Fones technique
TAHED WA TeTdeh! HIvId ST a STt Hifiaet ST ?
A) FE T B) T UEd
C) Hiewaa D) B aA
78. Example of endogenous intrinsic stain
A) Tobacco B) Tea
C) Amalgam D) Amelogenesis imperfecta
TS 321f~ieh T 3STeT0T hivd ?
A) dErg B) =@l
C) e D) AAISHEIY Rk

1
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79. Stippling is seen in
A) Attached gingiva

C) Alveolar mucosa
greY (feeafer) ame faga A

INEE. LSS EIC]
C) IFeRIAAR BT

B) Col

D) Muco-gingival junction

B) @hid

D) weh!-fSrsftas siaeH

80. Which of'the following is used as a temporary restorative material ?

A) GIC B) Amalgam

C) Composite

WTeferieh FHETET AT W R Hifee T T gt ?

A) GIC B) 3THer™

C) HIETEE

81. The Consumer Protection Act came into force on
A) 15% Apr. 1987 B) 16" Apr. 1987 C) 17! Apr. 1988

TTEeh GL& HRaT I SFHEATA AT ATz,
A) 15 TfSa 1987 B) 16 Tt 1987 C) 17 Uit 1988

82. All are movements of the TMJ except in
A) Elevation B) Protrusion

C) Depression

e AGATRE aTeh) ¥ Aunst=a1 g 31ed.

A) tfereReE B) WiggH
83. Total number of bones in the body is
A) 200 B) 204
s greT=t uegu g fad ?
A) 200 B) 204
84. Life span of Neutrophil is
A) 2-5 days B) 6-7 days
I hoan Sfta sreast frd ?
A) 2-5 feag B) 6-7 feam

19

C) fem

C) 206

C) 206

C) Throughout life

C) ggui fegam

D) ZnO-E

D) ZnO-E

D) 18 Apr. 1988

D) 18 ufyar 1988

D) Intrusion

D) ™

D) 208

D) 208

D) 24 hours

D) 24
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85. The process of neutrophils engulf and degrade the bacteria and cellular debris is called as

A) Opsonization B) Phagocytosis
C) Marginisation D) None ofthe above
Sl 3RTe TivT st feire et Seger < fsrg =i s wevraTa ?

A) ATHAEATA B) ®MEwete

C) ATfrReH D) Sttt vt T
86. The following are types of dental notation system EXCEPT

A) Palmer system B) FDIsystem

C) Universal system D) IDA system

GTeficieh! Ush STad1 Od 2ot Aoy fieed= Y aTred
A) e faen B) FDI firen C) A Rreem D) IDA fgwn

87. Spherical shaped bacteria are called as

A) Bacilli B) Spiral C) Vibrio D) Cocci
el TR ST 1 TRUITd :
A) sfeeft B) TIRRE C) feefsrn D) ¥ht
88. No Tobacco day is celebrated on
A) 26M May B) 315t May C) 26t April D) 315t April
qarg Gtk fea@ st FrerT et simat ?
A) 261 B) 3170 C) 26 ¥ D) 31 ufia
89. Mottled enamel is related to
A) Copper B) Tin C) Fluoride D) Iron
HIeee THHA hIMlsd Haiftrd I8 ?
A) dE B) &4 C) wise D) e

«J§2
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94.
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Disclosing agent is used for detection of

A) Caries B) Plaque C) Periodontitis
femaetifom usie 9 fem It arr e s,
A) TaE B) fahew (wmr) ) Fufeneif=dw
Osteoradionecrosis is seen in

A) Radiation B) Physiotherapy C) Periodontitis
srffeanrfes g faa semed foga ad ?

A) e - B) e C) fafmE=da
Morphine is

A) Antibiotic B) Antipyretic C) Disinfectant
TR TR,

A) FAdaaifs B) siflurifess ) fewmghace

Which medication is used during an attack of angina pectoris ?

A) Antibiotic B) Brufen C) Nitroglycerine

Fif1 U= 318 JAT™ o1 SUIH Hivd 39y I S 7

A) 3ifesmnfes B) A C) AAIfreraEd

D) Gingivitis

D) fafsfefes

D) Infected surgery

D) Hshieh IEATHAT

D) Narcotic

D) ATRifeH

D) Paracetamol

D) quferma

A decrease in volume and function of a tissue due to reduction in cell size is

A) Atrophy B) Hypertrophy = C) Neoplasia

D) Hyperplasia

it SR FHl SeaT e I FE T STEHEREH AT AiciedT HEiicl & Feurdrd ¢

A) T B) TGS C) Frnféa
scaler is used for removal of supra gingival calculus.
A) Hoe B) Eyelet C) Sickle

D) BTG

D) File

e g1 ffsreeat Foaad FIevamEnd! aTa el Sial.

A) & B) 3TEiE C) faa

-14-

D) e




O

96. Chisel is used with

A) Pull stroke B) Push stroke C) Horizontal stroke
Fraer AT FHIMETEd hell STl ?
A) a0 Bi B) 99 €& C) BifE=d &%
97. Vasoconstrictor used in local anesthetic
A) Adrenaline B) Methyl paraben
C) Camphor D) Lignocaine
Jedfiear AT el e SO sEaTR g el 3R
A) ST B) fde dosH C) &R
98. Area specific curette is
A) Gracey B) Universal C) Colombia
&7 fafire gtz
A) T B) gfeda C) HreferEn
99. Wide spread occurrence of disease in a community
A) Endemic B) Epidemic
C) Communicable disease D) Fomite
TSR WIS THTUIG TETOT SR HIvTaT ?
A) Uefi B) sfusfiye
C) FgfFhad fedfist D) ®HTEe

100. Father of Dental Hygeine
A) Pierre Fauchard  B) Alfred Fones C) John Last

TqTTSAd S HI0T 7
A) TR s B) J@FHSHE () FAHARL

-15-
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D) Vertical stroke

D) s&fésha L

D) fomea

D) Langer

e

D) &M

D) G.V.Black

D) Sfi.= . s
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1. Which is correct use of adverb ?
A) Honey is very sweet B) Honey is too sweet
C) Honey is so sweet D) Honey is much sweet

2. Which is correct use of preposition ?
A) She is married with rich man B) She married with rich man
C) She is married to a rich man D) She had married with rich man

3. Sheis working in an exclusive male dominate domain. How this sentence can be written
by removing gerund ? Select correct sentence from following.

A) She work in an exclusive male dominated domain
B) She works in an exclusive male dominated domain
C) She worked in an exclusive male dominated domain

D) None of these are correct

4. Which is correct use of verb ?
A) My brother lived in Mumbai since 1930
B) My brother has lived in Mumbai since 1930
C) My brother is lived in Mumbai since 1930
D) My brother have lived in Mumbai since 1930

5. Name the correct clause bracket in the given sentence.
He is (much) obliged to you.

A) Noun clause B) Co-ordinate clause
C) Positive adverb clause D) Adverb clause of reason

6. Name conjunction from the sentence :
Ganesh does not care whether his wife goes out of home.

A) Whether B) His C) Outof D) Care

7. Complete the sentence by using a word from the following words :
The cashier the money and signed a receipt for it.

A) Collects B) Accepts C) Counted D) Receives
8. Choose the correct passive voice from the following sentences.

A) He was given a gift by Rita B) He gives a gift by Rita

C) He gave a gift by Rita ' D) He was giving gift to Rita

i
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12.

13.

14.

15,

Choose the group of words which is most nearly the same in meaning as of the word
Revolutionize

A) Affect adversely B) Develop gradually

C) Change drastically D) Illuminate completely

Nothing else travels so fast as light (Make comparative and choose correct answer).
A) Light is traveler than any other thing

B) Light travels faster than anything else

C) Light is faster traveler than nothing

D) Light is travelers faster as anything

Pick up correct sentence.

A) When the meeting been start ?

B) When the meeting would start ?

C) When the meeting will be starting ?
D) When the meeting will start ?

Choose the word from given words to fill in the blank to make the sentence meaningful.
No sooner he arrived then everyone up in his honour.
A) Stood B) Stands C) Stand D) Got

Rewrite the sentence by using proper conjunction.
Mohan was young, he went to Africa.

A) But Mohan was young, he went to Africa

B) When Mohan was young, he went to Africa

C) That Mohan was young, he went to Africa

D) Hardly Mohan was young, he when went to Africa

Choose correct Tense Form that is used in the following sentence.
We had been playing in the Park.

A) Past perfect continuous tense B) Past continuous tense
C) Present perfect continuous tense D) Past perfect tense

Select grammatically correct sentence.
A) Karachi is Sindh’s seaport B) Karachi is the seaport of Sindh
C) The seaport of Sindh is Karachi D) The Karachi is Sindh’s seaport
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16. Eeliertich! hIvTe STaesd TueT IRTehg STEHTaR foh 2 aedl ?

A) 3% IFHAAT B) SHcicAl STaed

C) AT T D) T Y
17. ardi=a1 uaTd THUT 33 [T AT, TATdh! Ul W 3TEATd.

A) gid B) C) du D) U
18. ETeiierieh) shivren Tefta afere Siuet TeUH Heidd §iTd ¢

A) artigs B) wii&r C) aFa D) wgdie
19, SATCHTEWE A7 STSTHE Ufift s 2.

A) EfterE B) SarEE= C) #Hg=m D) Ik
20. I Tforeft fTe STam o1 graeH et Y, T gEiiad deag e Hard .

A) HIE B) shafisa C) WiEea™ D) fieed .
21. AHaM SFfacien ufeer i amm B3

A) =& B) @iz C) ufferat D) A&
22. A IR waid widt aeft

A) SIS B) I C) &3 D) M3 e
23. EicAicdeh! IV THMYe disre=T = A7eT gt ?

A) wfE B) i C) JAm™m - D) &
24, @ieedeh! SIveT WTE TG I 378 Gelleard ?

A) T Feh B) Gftramd C) b D) TEEM
25. @rciiaueh! faga g near.

A) FeEme B) U C) fesn D) a9
26. YT Tt Ao WIS I RIRIC=FIETAS 1

A) =HA B) X C) Ticreftatt D) 3R
27. fgrm IJTe Bl

A) TREE B) femmop C) e D) Eeet

28. HTOET=AT YR o ST fohdt 379d ?
A) ¥o Tk B) ¢ Tk C) %33 D) 3% 2@
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29. AT THTFATET (AT 3T FeA e,
A) TR 3ifle B) "gfem sifae
C) Trefrem grATge D) Gifeam-gR-shee
30. AT At GITITS W WIefletish] ShIehg shel STTd 7
A) TEHHG B) HiaTHg C) =arq D) RS

31. 371, Fyamet = afe=a oeH AR, SAETET S I nie=ITd el a HEEET S
FIvreT Aig=aa g ¢

A) 9@ B) #&w C) mmtefd D) NI
32. feggnf diaesn tehE fauea afiedfi F#8 8a ?
A) & B) ¥ C) fergh D) el

33, UehT Hishideh 9T8d ALPHABETS 81972 £33% 24 we 3T fafee s@a @ HEALTH
21 912 1 ferfadiar ?

A) ¥&%0Y B) ¥&%3uwy C) ¥&I¥wWY D) ¥&23wY

34, U Hikide q¥d STAND 81988 FGNAQ 3@ ferfaer stie at &= 94 TROLLY
&1 v1se d] fergret 7

A) GYSBYL B) GEBYYL C) GBEYLY D) GEYBLY
35. WETelid ATfeiehd THTEY 813 Wehd Fdcicl| Hed1 Siaal.
R¢o, 34¥, 230, 30¢, €¢,9¢
A) %30 B) 20¢ C) ¢« D)
36. 3, 33, 333, ... ATHAM o Jo51 HEAT forget careht SKir Sheft o AoMT=an SRSl ict @l 7kt sidtel
fot gt ?
A) 2% B) R0 C) D) ¥
37. 11%2?3H13W@t+x—<a%mc%@*>=aﬂ%m = * x <> JTq IV T R fet!
?
A) ¥4 B) ¥us¢ C) ¢¥3us D) ¥ec4R

38. ST 3¥xE = %3 AT LEX U =364 T ¥Lx\9E = ?
A) OLRY B) ©C¥g C) ¥k D) ¢&9¥

39. yre aNiqdt S1rds 99 fomean qefiean Far= =iue 8. 7T S115e 99 eft=an agr=41 favae
IR, a g 1o o7 et 7
INREE:L B) 2¢ad C) t&a8 D) 4oy
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40. ETeier AT TyARIFET=aT ST Shivid e Ad 7

R 3R] ¥

¢ | R1¥ 1%

0| ¢ || ?

A) & B) %& O R D) Re

41. STAPTITUDE = $4€¥933 T L& &¥E O3 TUS Y ¢
A) ALTITUDE B) ATTRIBUTE  C) ATTITUDE D) ITehl Sivide! Al

42, FEATEETEAT ST SHIvIAT &R THE A3 7

Hee :dY ;NS ¢

A) TR B) &&d C) &g D) @&
43. I gty faga arferat gof &0

R0, ¢0,28¢0, 7,400,190
A) %o B) 3o C) o - D) Roo

44 . ST ST 1K ST A5 ¢
7¢ 9 BY 2|4 LK

A) & B) 3 (5 - D) ¥
45, TSI % AT STRA. AT el qfen R arafia, at frfie e fireg fam

I ?

A) IR B) W C) afeqor D) 34
46. GIefietieh! Teharat ITH I ?

A) faam B) TR C) @+l D) WS

' 47. geefte o< aTTa 91 RIS R SASE.

A) 3R Hadl B) W@ C) e wadl D) Huft
48. TN U IS — AT FTRITl T AT,

A) TFHS FHall B) s/dd sl  C) wHUf D) ¥d
49. Grefier FrRITdIer AUt AfarsaeRTat aT STieal.

A) TSR ST e} ITEE. B) 3178 AT H{d Bidl.

C) T YaYsT a3, D) 31T YT Hild Te.

el anan o 23
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50.

51

52,

s

54.

33.

56.

57,

58.

58

60.

WTUTR &1 168 WIeAeldeh! ShivTeT YehiET 3718 al fAaeT 7

N T

A) fomae B) fmfagwnr  ©) engEifa D) g

WTeiiel AT hadl ST aTer STes@l.

A) T Affen e B) Hi\T T sEd

C) UTgUHT Earst IHTET - D) TTeeA ST e

Y™ TR UHSAT I1 1T T2 1.

A) B) wHuft C) WE D) 3eHe Hall
[T TR AW HS I AR fehaaar=n 31ef shivrr ?

A) Tkaret ' B) o C) w@d D) fereel
Erefierdehl gehteh Siret Hiordt 7 ,
A) I 0 - HIvfien B) SHISIS O -3a& 0]
C) TTE} 0 -ITIeAT T D) 3T A0 - HTSvl ATaol

WiefieTdeh! 3vaa=H-1 3168 Ales@l.

A) Fih B) 9&A C) D) 2=
@reftedeh fAfsaun sFsaa! s e r.

A) e B) Te3l C) & D) el
ITHATT FHIET &1 FAhHRIeh 68 HIVTHTS! ATRAT ¢

A) fasr fage qm B) arfasrr qd wvE

C) itz 2t Ao D) siferer sfivd HIoE

e g IrsaTe ST 3ftes@r. ~ WA, @t Sraeta ggan faar=h.

INRIEC e B) faranfasivo 1=

C) IvaT==ft 37y D) Facyant 7

ST TRl fiett - a7 e 3 o1ef e,

A) THTEF R B) TEH GHTEH &0l

C) 39aTE Hien D) @Y&

THTGT — I IR YeaT= Wiciiedeh! 31¢f shivrar ?

A) efefior qraTat Ot B) I SITOTR 3T

C) A% FEaE F D) @EUE Feul
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61. The Consumer Protection Act came into force on
A) 151 Apr. 1987  B) 16 Apr. 1987 C) 171 Apr. 1988 D) 18th Apr. 1988

TTEh Y& R T AT AT 3R
A) 15T 1987 B) 16 TR 1987 C) 17ufia 1988 D) 18 TfSiet 1988

62. All are movements of the TMJ except in

A) Elevation B) Protrusion C) Depression D) Intrusion

e T STHATRTET STkl T U= gTeree! e,

A) TeteeH B) WiggH C) fewm D) F%H
63. Total number of bones in the body is

A) 200 B) 204 C) 206 D) 208

yriwmefiet erer=h vgu de fodt ?

A) 200 B) 204 C) 206 D) 208

64. Life span of Neutrophil is

A) 2-5 days B) 6-7 days C) Throughout life D) 24 hours
2 heeren Sftaa shrarrae ferdt 7 ‘
A) 2-5f&am B) 6-7 faaq C) gyl fegawm D) 24d™
65. The process of neutrophils engulf and degrade the bacteria and cellular debris is
called as
A) Opsonization B) Phagocytosis
C) Marginisation D) None of the above
= eg 1ot T S felie S fdn deger <o T shrel FevrdTd ¢
A) ARSI B) wMEREREE
C) AifiR=ITH D) a{ieAtiehl shvTe! et
66. Taurodontism is a dental anomaly affecting
A) Size of tooth B) Shape of tooth C) Number of teeth D) Structure of teeth
reifeem € <a feret Jer uftom wed

A) TAR THFAN  B) TAEIAHR ) I G D) ST &
-9
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67.

68.

69.

70.

71.

12.

011-22 1N 0 O 0

Genioglossus muscle is attached to

A) Mental protuberance B) Lingula

C) Genial spindle D) Genial tubercle
SfErEEE F T e siede SHard

A) Hed Treger B) forme

C) e feres D) SifFre sgeeha

Deficiency of iron in body is called

A) Diabetes B) Ironaemia C) Anaemia D) None of the above
TR SATeT=a1 FHAd 1 FgUrdTd 7

A) TR B) e Ugin C) dgim D) afeid FHuRe e
Cell rests of Mallassez is present in

A) Pulp B) Periodontal ligament = C) Enamel D) Gingiva
HIAEFE Ve 12 AW SFHATa

A) TS B) ufenei=a fermiz C) 399 D) féxe=n
Hunter-Schreger bands are an optical illusion seen in

A) Cementum B) Dentine C) Enamel D) Pulp
E-THIR g8 B ITHEA EBR AT ehed 3egsid 12

A) fimien B) &= C) Tmd D) Heal
The following are types of dental notation system EXCEPT

A) Palmer system B) FDI system

C) Universal system D) IDA system

GTeATeAteh! Ush JiTesdl Td St A1y feeaa Wi 3ed
A) e faey B) FDI faweH C) e fawen D) IDA fawen

Spherical shaped bacteria are called as
A) Bacilli B) Spiral C) Vibrio D) Cocci
Tl HTHRT=AT SO ST TTT ¢
A) st B) W C) TR D) @ikt

-10-
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73. No Tobacco day is celebrated on

A) 261 May B) 315t May C) 26% April D) 315t April
derg Hfeh faaw el wrer e siar ?
A) 2671 B) 31# C) 26 T D) 31Ty
74. Mottled enamel is related to
% A) Copper B) Tin C) Fluoride D) Iron
HIeeE AT HITTEIEd e ford TR 7
A) T B) C) wisE D) &g
75. Disclosing agent is used for detection of
A) Caries B) Plaque C) Periodontitis D) Gingivitis
IEEERI SRS Eo A e et I et STl
A) Tag™ B) few (wirs) () fufmeifRda D) SffRs
76. The largest of the three divisions of trigeminal nerve is
A) Facial nerve B) Mandibular nerve
C) Maxillary nerve - D) Mental nerve
e sarean 4 farsmTidehl wetd et wrr sl ?
INE i B) eIl =
C) <re=a1 TSt Iar D) ofrafes =
77. The unit of measurement in bacteriology is
| A) Micron B) Meter C) Centimeter D) None of the above
TSt Hefie HISHTY SHUgT= Tehdh 10 7
A) ARIHH B) HiX C) HHieR D) aieidehl vt 1!
78. Vitamin D deficiency in children is called as
A) Pellagra B) Osteomalacia C) Rickets D) Scurvy
AW € SadcaT=a1 el S U ¢
INR S B) Infeamiafirn C) feheH D) et

-11-
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79.

80.

81.

82.

83.

84.

Method of destroying infected waste material is

A) Autoclave B) Hot air oven C) Sunlight
HehTHeh Fa=aT) faegare stoaT= ugd St ?

A) Fidad B) TH & 3fieed  C) GAYH™T
Enamel hypoplasia can be caused due to deficiency of

A) Vitamin A B) Vitamin B C) Vitamin C
SIS STAATCATIRRIT FRTTeA HHataqe o &1 Srehd 7

A) SfaTaea A B) Sflaac@ B C) Sftgada C
Osteoradionecrosis is seen in

A) Radiation B) Physiotherapy C) Periodontitis
srfeanfesing e wymed fega aq 7

A) e B) T C) fufeneifda
Morphine is

A) Antibiotic B) Antipyretic C) Disinfectant
TS 3TTe.

A) sidefes B) ffurpfes ) fewsae

Which medication is used during an attack of angina pectoris ?
A) Antibiotic B) Brufen C) Nitroglycerine

SAf=ET YFR TG 313F ITTE T I HIVA 3T I §1d ¢

A) sifesaifes B) g C) TR

D) Incinerator

D) R

D) Vitamin D

D) sftaaga D

D) Infected surgery

D) ghTHe ITEATHAT

D) Narcotic

D) AmhifeH

D) Paracetamol

D) duftere

A decrease in volume and function of a tissue due to reduction in cell size is

A) Atrophy B) Hypertrophy C) Neoplasia

D) Hyperplasia

Usfia 3TeRR FHt FTeaTe SdTa 1 T TR AT FTeied HERIe 1 A ¢

A) Tt B) TS C) frivente=n

i12-
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85. ~scaler is used for removal of supra gingival calculus.
A) Hoe B) Eyelet C) Sickle D) File
o ChorEn gyt NifSeed deaad hIeutgTdt aTat et STl
A) @& B) TR C) e D) $Ed

86. Universal recipient blood group is
A) Blood group A B) Blood group B C) Blood group O D) Blood group AB

IV THTE Afeh TTedahd ! 3718 7
A) THTC A B) TthC B C) TR O D) HTE AB
87. Molybdenum focusing cup with a tungsten filament in X-ray tube serves as
A) Cathode B) Anode C) Filter D) None of the above
T - SgamHia Sk fhamies nicisdtam Shia o9 1 wu[ 1 il 7
A) Fg B) TIe C) feex D) aieideh) shivret et
88. Presence of protein in urine is called
A) Anuria B) Albuminuria C) Polyuria D) Oliguria
AL WA STTeITH T 1 TRUITd ?
A) Ty B) siegf=gian  C) m?ﬁ?gfw D) aAfergfan
89. Recommended NaF concentration for in-office use caries prevention is
A) 2% B) 3% C) 4% D) 5%
FHTITTAT AT ATRIATS! TR Hetedm NaF Hefaued sherr= se shell sl 7
A) 2% B) 3% C) 4% D) 5%
90. Function of silica in dentifrice is
A) Flavouring agent B) Foaming agent
C) Anti-caries agent D) Abrasive agent
e shmeli et s s 3R ?
A) FAFRT TS B) ®ifmuse
C) JIA-F T D) UsfiE usie
3=
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91. Chisel is used with

A) Pull stroke B) Push stroke
Fertreran ST SHeTETEd Shell STl ?
A) T &I B) JU &%

92. Vasoconstrictor used in local anesthetic
A) Adrenaline

C) Horizontal stroke D) Vertical stroke

C) EET=d Q% D) s &I

B) Methyl paraben

C) Camphor D) Lignocaine :
|

Serie TR e aTael VR Sed s et 3R

A) SFSATATEA B) id@dued  C) FW D) forarr

93. Area specific curette is |

A) Gracey B) Universal C) Colombia D) Langer

&7 fafire w=gte

A) Dt B) Ifeeda C) wicifern D) &R

94. Wide spread occurrence of disease in a community

A) Endemic B) Epidemic
C) Communicable disease D) Fomite
THTSTHE RIS THTUITG TEUTRT TSR HIorar ?

A) tefism B) 3fuefis
C) Ffhae fedtst D) HMES

95. Father of Dental Hygeine
A) Pierre Fauchard
C) John Last

TaETSdd S HI0 7
A) TR wErE
C) ST

-14-

B) Alfred Fones
D) G.V.Black

B) 3feT%e B
D) st . sl
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96. Fluorides and pit and fissure sealants for caries prevention are

A) Primary prevention B) Specific prevention
C) Secondary prevention D) Tertiary prevention
A) Tfis I=mE B) Rt s=m
C) g=9 9= D) qdiaes s=d
97. Which of the following brushing technique is recommended in children ?
A) Bass technique B) Charter method
C) Stillman technique D) Fones technique
AT @iefierdeh shivia st o STaeoar giffiqel s ?
A) I TH B) X UEd
C) e ad D) ®dT
98. Example of endogenous intrinsic stain
A) Tobacco B) Tea
C) Amalgam D) Amelogenesis imperfecta
TrSISf 8 3 =0k W4 ISTE0 v ? _
A) &g B) =@l
C) IHa™ D) TSI e SRR
99. Stippling is seen in
A) Attached gingiva : B) Col
C) Alveolar mucosa D) Muco-gingival junction
e (feeafer) amed fega A
A) srergffian B) i
C) IAcRSTAR RhIET D) RIeh!-sfiaet siavH

100. Which of the following is used as a temporary restorative material ?

A) GIC B) Amalgam C) Composite D) ZnO-E

GreAleTdeh! R ATCqRd RS HTfeed Teu[ TR gral ?
A) GIC B) 3™ C) HUHEREE D) ZnO-E
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1. Nothing else travels so fast as light (Make comparative and choose correct answer).
A) Light is traveler than any other thing
B) Light travels faster than anything else
C) Light is faster traveler than nothing
D) Light is travelers faster as anything

2. Pick up correct sentence.
A) When the meeting been start ?
B) When the meeting would start ?
C) When the meeting will be starting ?
D) When the meeting will start ?

3. Choose the Word from given words to fill in the blank to make the sentence meaningful.
No sooner he arrived then everyone up in his honour. '

A) Stood B) Stands C) Stand D) Got

4. Rewrite the sentence by using proper conjunction.
Mohan was young, he went to Africa.

A) But Mohan was young, he went to Africa

B) When Mohan was young, he went to Africa

C) That Mohan was young, he went to Africa

D) Hardly Mohan was young, he when went to Africa

5. Choose correct Tense Form that is used in the following sentence.
We had been playing in the Park.

A) Past perfect continuous tense B) Past continuous tense

C) Present perfect continuous tense D) Past perfect tense

6. Select grammatically correct sentence.

A) Karachi is Sindh’s seaport B) Karachi is the seaport of Sindh

C) The seaport of Sindh is Karachi D) The Karachi is Sindh’s seaport
7. Which is correct use of adverb ?

A) Honey is very sweet B) Honey is too sweet

C) Honey is so sweet D) Honey is much sweet
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8. Which is correct use of preposition ?
A) She is married with rich man B) She married with rich man
C) She is married to a rich man D) She had married with rich man

9. She is working in an exclusive male dominate domain. How this sentence can be written
by removing gerund ? Select correct sentence from following.

A) She work in an exclusive male dominated domain
B) She works in an exclusive male dominated domain
C) She worked in an exclusive male dominated domain
D) None of these are correct

10. Complete the sentence by using a word from the following words :

The cashier the money and signed a receipt for it.
A) Collects B) Accepts C) Counted D) Receives
11. Choose the correct passive voice from the following sentences.
A) He was given a gift by Rita B) He gives a gift by Rita
C) He gave a gift by Rita D) He was giving gift to Rita
12. Choose the group of words which is most nearly the same in meaning as of the word
Revolutionize
A) Affect adversely B) Develop gradually
C) Change drastically D) Illuminate completely

13. Which is correct use of verb ?
A) My brother lived in Mumbai since 1930
B) My brother has lived in Mumbai since 1930
C) My brother is lived in Mumbai since 1930
D) My brother have lived in Mumbai since 1930

14. Name the correct clause bracket in the given sentence.

He is (much) obliged to you.
A) Noun clause B) Co-ordinate clause
C) Positive adverb clause D) Adverb clause of reason

15. Name conjunction from the sentence :
Ganesh does not care whether his wife goes out of home.

A) Whether B) His C) Out of D) Care
4
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16. @icfiesh! fadTa gesh s,

A) fme B) ¥ C) Wean D) Fa®
17, SeRTST Tt T RS 7 SITEFTRS ST,

A) <A B) T C) Tfereftatt D) 3E=EA
18. fagmm IqTges Bl

A) TRE= B) fammy C) erdi@ D) 3Eeel
19. ATUETEAT YRR T TeraTe JHToT feet 3r@rd ?

A) ¥o THh B) ¢ Zah C) 23T D) 3%TFh
20. T CHTEATST ST S Hellyard.

A) GeRIfeh AHfde B) wgfesh ifee

C) W™ arAEs D) GifeaH-aR-FHEHe
21, ATCHEHY AT SASTRHE ufieht & Bd. | '

A) TEfdET= B) =rarE=A C) Hg=Al D) Fhar=Al
22. QTATTIh! IV STEAT ST I AR formm arel wedt ?

A) 3% AT B) ST AT

C) AT L D) ST TSl
23. TSI FHUATA URUT 33 HUIh AT, ATdeh! Tk A STEAT.

A) @ B) C) T D) 30
24. EIEftAteh! Horn Tefid gu=t fuet TRU Falud S ¢

A) RIS B) &t C) I%d D) w@gdie
25. wre srieter wearta wiet ueft |

A) 3T B) & C) & D) WIS A
26. EIEAeTdeh! ShIvTe UMTHE qiareet yefi= Tt gat ¢

A) TR B) wia - C) W™ D) &
27. T ieish! ShIvTedT TME FTI= T 318 HeIeard ?

A) TEHITE b B) dftam C) HHAT D) HERRT
28. A T et e 31l SrEeH Rt Y, Te gEiadt cieagerni e e

A) FIHR B) lufierd C) Wewd D) firesé
29. THAM sHfdeIe dfgel S| GrT TR

A) Wi B) 0eie C) uifere D) ARAH

5
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30. ure auiye srEe o foe gefrea s <ue 2. TSt TS o Heftean a1 favae
TR, T el 31 39 fohelt 7

A) kT B) t¢ay C) L&aN D) a8
31. W ArehiTd T Ta-aT=a1 STt shivrd] §ed 33a ¢

R [R] ¥

¢ | :]¥]|2e

NEIME |

A) & B) 28 C) R D) Ro

32. SAPTITUDE = 4&¥%6R3 T §EE¥E 933 TEUNI & ¢

A) ALTITUDE B) ATTRIBUTE C) ATTITUDE D) ekl vt ATl
33, YeATeETeal ST ShIvTT ST THE A5 7 '

FUE  dHE NS ;7

A) T B) q&d C) uvd D) @s<
34. I gt Fag wifereRt qui &0

Ro,¢0,8¢0, T, 400,90

A) 8o B) 3¥o C) 3Ro D) 300

35, gvafegrea Sl shiowdt e Ade 7
7¢ R &Y W4 &

A) & B) 3 €) % D) ¥
36. YRITET Al HIHTBUATS ST WIeIetieh oG el STTd ¢
A) TEHAHAG B) HITHg C) =Hdrq. D) JqRSS]
37. AT, AL o AR STem 3R, ST S0 11 TR St at A= S
ST Hg=ITd ST ?
A) NG B) A& C) Hrief D) SIS
38. faewt dieren dfe faeen wrefiede HId g ?
A) T B) I%d C) s D) &
. L33, . TR & Aepl T e et Kt el o Ao K T e St
?
A) R B) 20 C) D) ¥

B
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40. ST LIILTEUN + x — <T QUG & @ * >= AR A = * x < > ITq HIVIdT HE&AT et

TR 7
A) ¥4Lb B) ¥4¢ C) R4 D) cuR
41. ST IYXEL = §¥93 M LEX/U=RELY] T YL X0E =2
A) 6ekY B) W¢¥E C) CuO¥E D) ¢&oY
42, G 7% JISa 3Rd. I8 F1e1 ufvew fawn erafaay, @ fifie s foeg famm
FHU 7
A) A B) W C) sferm D) 3
43. Tehi Hidhideh TG ALPHABETS 813152 & 33¥4& ¢ aqm%‘f%maqaaatmm,m
BT v1ee &y fetfeeter 7
A) ¥EIQWY B) ¥&3u¥ C) ¥EL¥OY D) ¥&330¥

44 . U1 Gishfash d STAND 21 318¢ FGNAQ 311 fafeet st8e ot <ma v+ TROLLY
BT 37ec hat foreret ?

A) GYSBYL B) GEBYYL C) GBEYLY D) GEYBLY

45. Qe Hifcichd GHTET B1% YTehd T8 GEAT HATsEl.
9¢0, 34, 230, 0¢, €L, ¢

A) %30 i B) 20¢ C) ¢ D) &
46. G 3wraE- vIee ST
A) Ft B) At C) Fet D) 2t
47. Erefierdeh FfTemuer stashasH vsg eNleEl,
Y INR U B) HeAl C) e D) e
v 48. AT ST BT SSIshIIeh Y68 HIVTHIST ATIATT ¢
A) e g T B) aifaer o A
C) ferer 3+t HTom _ D) arfasr sfiva wroE
49. remfiga weereh STq i@, - A, @yt fowaeita qean s,
A) T ST B) feranfasivu st

C) Tt 315 D) ey 3T

2l S DATTISNANANCOTC TN B T L L T P ek =t rrrerrrratorio
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50. Steame gt fFeu ~ A1 a9 e fae.

A) GEHEF B B) TgH ST 2ol

C) IuaTE e D) @y
51. TUEUHY - AT IR WoaraT @iefieriht 31ef oy ?

A) refefior araiaT s B) eI SITOTR =T

C) IHS ASHS FHL0! D) G{SUE! &
52. Wieiieeh Tha=H! T HIR ?

A) e B) 31T C) g D) S
53. grvfter ot avera A T SE . .

A) TeFHE FHad) B) W& C) Hehtieh Had) D) sHHuft
54. GR U9E LT - AT AT TRINT ST,

A) TFHeE HAQ B) 37t Fadl

C) wHof D) WM
55. QI R kel 1 ATERITd e ST SfleT.

A) Fad B) Huft C) Y@ D) 3TH !
56. et eTTer S A A1 At e st s ?

A) Gehare B) 3 C) @rd D) faeas
57. Qe Fehreh et o ? | |

A) =9 20 - Fvfieh B) TSI L)~ & HTol

C) Tt 0TS ROl D) 3TRT A0 - TS ATal
58. @refle areTdiier Tqut wiersrenTast arey oftear.

A) ATEA TGS et 378, B) T QoY Hild erel.

C) 3T TS Hiid 3. D) 37§ aYST il 3R,
59. WTUTR &1 I8 WicAIcTdeh! IV Jehea 212 at fiaen ?

A) T B) fermfargmo C) grgarea D) 91g
60. T ATRITA haldl SRNTR ST ST,

A) T afofien siemas B) ®ur TR e

C) UTEUT East IR D) wTeE SrTesT Hae
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61.

62.

63.

64.

65.

66.

Chisel is used with

A) Pull stroke B) Push stroke C) Horizontal stroke D) Vertical stroke
FereTa AT HTTETEq shell STl ?

A) TAEH B) TS C) aE=a s D) s&fésdl ¥l
Vasoconstrictor used in local anesthetic '

A) Adrenaline B) Methyl paraben

C) Camphor ' D) Lignocaine
Ted e THEd s el aTuet STTUTR SR el =g et 38

A) AT B) fuda dueq

C) FH D) fera

Area specific curette is

A) Gracey B) Universal C) Colombia D) Langer
fafifime e

A) Ut B) gFeedd C) hefern D) @R

Wide spread occurrence of disease in a community

A) Endemic B) Epidemic

C) Communicable disease D) Fomite
SIS TSI JHTUITG TETOTRT TSR 10w ?

A) Ui B) 3frefie C) wegfhad fedis D) wwmREe
Father of Dental Hygeine

A) Pierre Fauchard  B) Alfred Fones C) John Last D) G.V.Black
GaEToad Sieh hIv ¢

A) TRt wrETE B) SE¥ESH () AR D) s . =i
Fluorides and pit and fissure sealants for caries prevention are

A) Primary prevention B) Specific prevention

C) Secondary prevention D) Tertiary prevention

A) Tfie srErE B) fafirss=ma

C) gH s D) qdtash e

4.

v L N BT
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67. Which of the following brushing technique is recommended in children ?

A) Bass technique B) Charter method
C) Stillman technique D) Fones technique
AT WA Tereh! FHivrd {fi &3 aromg giftga s 7
INELGEE B) =T UEd
C) Ve dx D) I dd
68. Example of endogenous intrinsic stain
A) Tobacco B) Tea
C) Amalgam D) Amelogenesis imperfecta
TS E 3 R e v ?
A) g B) =@l _
C) Jma™ D) HANSEE $FqTHE
69. Stippling is seen in
A) Attached gingiva B) Col
C) Alveolar mucosa D) Muco-gingival junction
g (feeafer) amed fogq 3q
A) IagfSriiar B) &
C) IR R D) =~ foriad saE
70. Which of the following is used as a temporary restorative material ?
A) GIC B) Amalgam C) Composite D) ZnO-E
Greflertehl HATEN A FRfa Hifeed wevE o 8t 7
A) GIC B) 3me™ C) FIETEE D) ZnO-E
71. Taurodontism is a dental anomaly affecting
A) Size of tooth B) Shape of tooth C) Number of teeth D) Structure of teeth
Zreifeem & <o fadd) e aiomy s

A) TAE FEEHE  B) AMEISNEHER C) @i EE D) raret A

-10-
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72. Genioglossus muscle is attached to
A) Mental protuberance B) Lingula
C) Genial spindle D) Genial tubercle
ST TR I Sedd 3Edrd
A) Tied Tiea B) ferem
’ C) S feew - D) S ek
73. Deficiency of iron in body is called
l A) Diabetes B) Ironaemia C) Anaemia D) None of the above
TS AR AT R TR ¢
A) HYHE B) g ugin
C) Uglm D) eicishl Sivie! At
74. Cell rests of Mallassez is present in
A) Pulp B) Periodontal ligament ~ C) Enamel D) Gingiva
HTATEEE Ue 16 ITHEd TEdTd
A) TSI B) ufeneEiea fomme C) 3Ad D) fete=n
75. Hunter-Schreger bands are an optical illusion seen in
A) Cementum B) Dentine C) Enamel D) Pulp
T -THI Jgd © I TGSV HTchet oo TR
A) Trien B) S5 C) HA D) el
76. The Consumer Protection Act came into force on
A) 15t Apr. 1987 B) 16t Apr. 1987 C) 17t Apr. 1988 D) 18t Apr. 1988
e Y& HIAT U AT SATAT TR,
A) 15T 1987 B) 16T 1987 C) 17 ¢f 1988 D) 18Tt 1988
77. All are movements of the TMJ except in
A) Elevation B) Protrusion C) Depression D) Intrusion
T AT STeh! Tl SUHSIT BTeraTe] 3.
A) UereRTH B) WigzH C) fem D) @A
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78. Total number of bones in the body is
A) 200 B) 204 C) 206 D) 208
yRitmefier grereh v g fohdt ?
A) 200 B) 204 C) 206 D) 208
79. Life span of Neutrophil is
A) 2-5 days B) 6-7 days C) Throughout life D) 24 hours
e sfaa Hrermad fadi 7
A) 2-5feag B) 6-7 feaq C) |qvi feaes D) 244d™
80. The process of neutrophils engulf and degrade the bacteria and cellular debris is called as|
A) Opsonization B) Phagocytosis
C) Marginisation D) None of the above
2R 3TeE ST i fedre At Segert Sfsr A o wevmam 7
A) ATHAEH B) $mametaE
C) TSHRIZRH D) il HIvdal A1t
81. The largest of the three divisions of trigeminal nerve is
A) Facial nerve B) Mandibular nerve
C) Maxillary nerve D) Mental nerve
Feifiet S dF farsmsht gatd wiat wm i ?
INE GG B) ST HaT
C) <=1 g dar D) 31afEs =al
82. The unit of measurement in bacteriology is |
A) Micron B) Meter C) Centimeter D) None of the above
S iretis eftet WIS 0T Usheh iV 7
A) TRIEHA B) et C) e D) ittt Hivrie el
83. Vitamin D deficiency in children is called as
A) Pellagra B) Osteomalacia C) Rickets D) Scurvy
gameid g SadaT=an FHatdl S T 7
A) demn B) sffeawafirn C) fehem D) it
-12-




00 YO R 0 C - 011-33

84. Method of destroying infected waste material is

A) Autoclave B) Hot air oven C) Sunlight D) Incinerator
T Fa=ATd1 faerare FHoar Ugd v ?
A) Aldad B) TH gad 3feed ) GANHE D) FHHA
85. Enamel hypoplasia can be caused due to deficiency of
A) Vitamin A B) Vitamin B C) Vitamin C D) Vitamin D
S0 ERUTCATRIT ST FHA e Tl 819 wrehd ?
A) SiEgE A B) Sfla#aa B C) St C D) SflaFdE D
86. Osteoradionecrosis is seen in
A) Radiation B) Physiotherapy C) Periodontitis D) Infected surgery
SRS e foga ad ?
A) Hfewsm B) ffmaerdt C) PfERfRda D) dHme e
87. Morphine is
A) Antibiotic B) Antipyretic C) Disinfectant D) Narcotic
HICHEA AR,
A) fdaafes B) sifumfes () femsae D) Amhife
88. Which medication is used during an attack of angina pectoris ?
A) Antibiotic B) Brufen C) Nitroglycerine D) Paracetamol
ST YR 1R HTATE T G0 v STTe AT ST ¢
A) Sifesrnte® B) g#A C) TRifeEtgs D) dafdeme
89. A decrease in volume and function of a tissue due to reduction in cell size is
A) Atrophy B) Hypertrophy C) Neoplasia D) Hyperplasia
Yyfia SRRt ey IR 1 9 SATHTHH JHE FTcted| HHTofier H™ Fuiard !
A) G B) BRI C) it D) R
13-
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90. scaler is used for removal of supra gingival calculus.
A) Hoe B) Eyelet C) Sickle D) File
e g fifveed deagera sevarard aTr e s
A) # B) 3w C) T D) HiE

91. Universal recipient blood group is
A) Blood group A B) Blood group B C) Blood group O D) Blood group AF

FHIVTAT THTE Afeh TTedehal 3772 ?
A) THTE A B) THTE B C) & O D) & AB
92. Molybdenum focusing cup with a tungsten filament in X-ray tube serves as
A) Cathode B) Anode C) Filter D) None of the above
- S G fhamiens aicfisdiam da w9 w1 e S w7
A) FUre B) e C) freex D) et vt 7T
93. Presence of protein in urine is called
A) Anuria B) Albuminuria C) Polyuria D) Oliguria
AAHE T STITH T 1 FRUIaTd 7
A) e B) sesgfagfan  C) wiefigien D) aifergfen
94. Recommended NaF concentration for in-office use caries prevention is
A) 2% B) 3% C) 4% D) 5%
FRCRATAT AT ATRETST RIBTE Feted NaF S = s=a e st ?
A) 2% B) 3% C) 4% D) 5%
95. Function of silica in dentifrice is
A) Flavouring agent B) Foaming agent
C) Anti-caries agent D) Abrasive agent
eat shrmtfiet frcfie & o ?
A) TG TS B) wiffmuse
C) AA-F T D) Tifa T
-14-
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96. The following are types of dental notation system EXCEPT
A) Palmer system B) FDI system
C) Universal system D) IDA system

@relieiieh) Uk arTesdT Td Soe AT foeHs TR 3Ted
A) drert foren B) FDI firen C) ot foreen D) IDA foeq

97. Spherical shaped bacteria are called as

A) Bacilli | B) Spiral C) Vibrio D) Cocci
TietTehel! SR ST <1 FEUTdTd
- A) et B) WREA C) f=fsen D) it

98. No Tobacco day is celebrated on

A) 26t May B) 315t May C) 26t April D) 315t April
g Hfth e weft @t e s ?
A) 267 B) 311 C) 26 TS D) 31 Tf¥a

99. Mottled enamel is related to

A) Copper B) Tin C) Fluoride D) Iron
Heee STAd HITEIed Heed 3R ¢
A) T B) #H C) U D) e

100. Disclosing agent is used for detection of
A) Caries B) Plaque C) Periodontitis D) Gingivitis

feaaenfom weie 2 frer FRoaETES! 19T et STl
A) g B) frev (k) ) Ff@@Rdm - D) FifsfRis
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1. Rewrite the sentence by using proper conjunction.
Mohan was young, he went to Africa.

A) But Mohan was young, he went to Africa
B) When Mohan was young, he went to Africa
C) That Mohan was young, he went to Africa
D) Hardly Mohan was young, he when went to Africa
2. Choose correct Tense Form that is used in the following sentence.
We had been playing in the Park.
A) Past perfect continuous tense B) Past continuous tense
C) Present perfect continuous tense D) Past perfect tense

3. Select grammatically correct sentence.
A) Karachi is Sindh’s seaport B) Karachi is the seaport of Sindh
C) The seaport of Sindh is Karachi ‘D) The Karachi is Sindh’s seaport

4. Nothing else travels so fast as light (Make comparative and choose correct ax:.tswer).
A) Light is traveler than any other thing
B) Light travels faster than anything else
C) Light is faster traveler than nothing
D) Light is travelers faster as anything

5. Pick up correct sentence.
A) When the meeting been start ?
B) When the meeting would start ?
C) When the meeting will be starting ?
D) When the meeting will start ?

6. Choose the word from given words to fill in the blank to make the sentence meaningful.
No sooner he arrived then everyone up in his honour.

A) Stood B) Stands C) Stand D) Got

7. Which is correct use of verb ?
A) My brother lived in Mumbai since 1930
B) My brother has lived in Mumbai since 1930
C) My brother is lived in Mumbai since 1930
D) My brother have lived in Mumbai since 1930
-3-
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8.

10.

11.

12,

13.

14.

15

16.

Name the correct clause bracket in the given sentence.
He is (much) obliged to you.

A) Noun clause B) Co-ordinate clause

C) Positive adverb clause D) Adverb clause of reason

. Name conjunction from the sentence :

Ganesh does not care whether his wife goes out of home.

A) Whether B) His C) Out of D) Care
Which is correct use of adverb ?

A) Honey is very sweet B) Honey is too sweet

C) Honey is so sweet D) Honey is much sweet

Which is correct use of preposition ?
A) She is married with rich man B) She married with rich man .
C) She is married to a rich man D) She had married with rich man

She is working in an exclusive male dominate domain. How this sentence can be written
by removing gerund ? Select correct sentence from following.

A) She work in an exclusive male dominated domain
B) She works in an exclusive male dominated domain
C) She worked in an exclusive male dominated domain
D) None of these are correct

Complete the sentence by using a word from the following words :
The cashier the money and signed a receipt for it.

A) Collects B) Accepts C) Counted D) Receives
Choose the correct passive voice from the following sentences.

A) He was given a gift by Rita B) He gives a gift by Rita

C) He gave a gift by Rita D) He was giving gift to Rita
Choose the group of words which is most nearly the same in meaning as of the word
Revolutionize

A) Affect adversely B) Develop gradually

C) Change drastically D) Illuminate completely
Grefiesh! ST efid Fera Ut U Harae Sid ¢

A) URRiEE B) whter C) a%d D) wgie

=18
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17. \TorETeAT IR e SHoy fehdt ad ?

A) ¥o Tk B) ¢ T C) 23T D) 3%2Fh
18. AT TETEATET AT 38 Gaedrd.

A) TR ife B) Tl ifde

C) TERTH AR D) Gifeam-aR-FEHe
19. @refierdeh! formma e 3TeaET.

A) femme B) G C) ean D)
20. TRt Tt HETHH TISFITET HH AT YIRSTThS STl

A) =z B) fm C) Tiferefiatt D) IMERLRA
21. M T3 Blal.

A) TEHH B) fammy C) aferefa D) 3tEeEl
22. FTeHATEHE IT TR vsfieh g 8.

A) Efter B) SdTEEg= C) Hg=a D) JFarear
23. I Tl e SR or@ qreey fact A, TR gEiad! daaqderr Hed faT.

A) FHITH B) iaferd C) wEeHH D) fiead
24. WHEH sHfaee afear FHm g TEA.

A) @R B) iz C) uffereer D) AREH
25. G IVt UTE TG T 378 Galgard ?

A) T F B) dftrama C) & D) HERA
26. WAt I ST AT IRehE STt fohmm are weat ¢

A) 39 3G B) SEATHT ST

C) FTeIea IHTE D) A YSAHT
27. TS HUATA TUT 33 WU EAIG. ATHRl  HURh B4 9dm.

A) 1@ B) dH C) au D) 37T
28. T Y ata qidt vt

A) SR B) %4 C) '™ D) I3 TR
29. @eiietehl shivTca TGS drere= Usfi=n =T gt 7

A) Tt B) iRl C) MM D) 4
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32.
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35.
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38.
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A1yt g wifers quf a

R0, ¢0,%¢o, 7,400,930

A) 3o B) 3¥o C) o D) 300
AT St i) g A 7

7¢ 9 B¥ 24 8

A) & B) 3 ¢y 2 D) ¥

YEATBId 13 dTeel 3TTed. T8 el ufvam fewn erafaat, o ffie srea fawg fasm
FHIvrt ?

A) qTH B) I® C) & D) T

qrE INTgE 3TTg a4 foen qeftean aar=an =g 81a. 31Tt s 9 ettt aar=an favre
TR, T Yefra 7o 5 fehelt 7

A) 2Rad B) tcad C) t&a™ D) guas

QreATe deh T JeTaaT=a1 STt Fhivrdt S Jga 7

2 3 |R] ¥

¢ | R1¥]13¢

ol ¢ Ul ?

A) & B) 2& 0 W D) R0

SLAPTITUDE = $4&%933 A LE§¥E 633 1IN &I 7

A) ALTITUDE B) ATTRIBUTE C) ATTITUDE D) Ikl Fiviaet et
UshT Hiehideh WG ALPHABETS 819788 ¢ 33% 24 & o¢ 3781 foifeett 3t @t HEALTH
BT 91se &y Terfedier 7

A) ¥&I29¥ B) ¥&g3uY C) ¥EQ¥oY D) ¥&%30Y
TeHT Hidhfod WG STAND &1 316¢ FGNAQ 3181 fatféett o/@e at &&= 9gd™ TROLLY
BT v1ee a1 forgret ?

A) GYSBYL B) GEBYYL C) GBEYLY D) GEYBLY
Wl Hifetehd THTAY 819 YTehd Factel! G&TT Saal.

8¢o, 34Y, %30, R0¢, ¢¢, ¢

A) %30 B) %0¢ C) & D) \&¢
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39, SET, AEATIE i AR ST TR ST S SHTA WiewITd STl a T S
AT AT el ¢

A) NG B) &rEvl C) wHnief D) IS
40. T qreesn Ui fawe afiatsh F1 e 7
A) & B) F&d C) T D) el

41. weAfa-gr=aT STt ShIvTaT YR THE A5 ¢
FES :qd ;NS : ¢
A) TH B) T&d C) avd D) @2
42. 3, 33, 333, ... AT AT gmm%@mmwmmma&maﬂa
fordt A 7
A) % B) Ro C) 2 D) ¥

43. fﬁzqst«muxawu%@b:aﬁm = % x < > AT HIUTT T SH el
?

A) ¥4l B) ¥uw3¢ C) ¥4 D) ¥8cuR
44, ST IYXE = B0 ATM LEXIU =G Y T YL XVE =2

A) 8CEY B) WC¥E C) C9¥E D) ¢(Rie¥
45, ST Al WIVTSUETE T WTeflerish! v el ST ¢

A) FEHHG B) HI31Hg. C) 34T D) SaRss
46. Tefga vrear= ST Hiew@l. - F, q @it fraea gean e,

A) TrseAnft T B) farenfasio st

C) Tt 3 D) Facyd s7eud
47. Sreama T fpent - a1 ST 9 21 fae.

A) FHTEH ol B) OTE GHTHH &0l

C) 39 Hieot D) @y
48, TdeUSHY ~ AT HAHINH yearal Wieftadeht 379 v ?

A) rfefor TSR =0l B) wEd SR HTH

C) TGS dSaE Fl D) @Eug! Feu
49, Gielieeh Tl yee ATSEl.

A) FE B) Wi C) wiH D) A
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50. Erefieish! AT sHsmaaH Ise eal.

A) I3 B) Tt C) HaBl D) e
51. TN HIT &1 HAHNSH I68 HIVTHTE 9T 7

A) rfaer fergm Ao B) el 7@ HIvH

C) fcrer At wom D) 3tfier sfima @
52. Trefiel T Squl wfasRTet aTe Sl

A) ISR JAYSAT hedl T8 B) 3T QST i Bidl.

C) IS SIS HIq 8. D) 31T YT I Te.
53. TETUTR BT 168 Wi TeTdeh! shIvTe FehTea 31T at fFeret ?

A) Tormg B) fafagmor  ¢) egEif@ D) g
54. EIATA AR Fadl AT ST e,

A) fom Bfofien e B) i srerd

C) UTgUaT East IHRET D) ATEE TSI Haedl
55. Wefietiehl Tshare1 A1 shivd 7

A) femm B) 31T C) a D) IS
56. GRYEAT ot ATSTa AT ATRICATA FAT SN,

A) IS HA B) 9@ C) Hehties shadl D) sHuft

57. R U2 IS8T ~ I AR ST 1@,

A) THHSE FHalt B) TRt il

C) wHHuft D) w&
58. QI T TR UehselT A1 TRl ST 31T,

A) %l B) wHuft C) 9R D) sedE wad
59. Tt 29TER A TR A1 AT fSramaern 31 shor ?

A) T B) s ) @ D) fead
60. Wrciicdsh! gehret STt FHord ?

A) =9 20 - FHvfiEw B) TSI 0 -geie 0l

C) Tt - TSIAT T D) 3T SATF0- TS0 ATl

8 '
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61. Universal recipient blood group is

A) Blood group A B) Blood group B C) Blood group O D) Blood group AB
T TS Ffkren STeeRdl e ¢

A) T A B) &h'Z B C) @O D) &hE AB

. Molybdenum focusing cup with a tungsten filament in X-ray tube serves as
A) Cathode B) Anode C) Filter D) None of the above

T X e T Thetiieus Wielisdim Shid 1 FeU Hid il ¢
A) F18 B) TS C) fheat D) iR shiordel et
. Presence of protein in urine is called

A) Anuria B) Albuminuria C) Polyuria D) Oliguria

 Aerefed NI ST T T T ?
A) G B) stesgfigian  C) dicfighan D) Affergian

. Recommended NaF concentration for in-office use caries prevention is
A) 2% B) 3% C) 4% D) 5%

FTTCTTAT ST AT R heledt NaF Hefines 3= s el Tl ¢
A) 2% B) 3% C) 4% D) 5%

. Function of silica in dentifrice is

A) Flavouring agent B) Foaming agent
C) Anti-caries agent D) Abrasive agent
Sea e fefier vl w1 R 7

A) TG T B) wiftimus<

C) IHA-FT TS D) Gafaus
66. Osteoradionecrosis is seen in

A) Radiation B) Physiotherapy C) Periodontitis =~ D) Infected surgery

feaRfeaTAehIoe semmed foga Ad ?
A) U= B) fhformerdt C) fifERifRdm D) Tk Tl
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67.

68.

69.

70.

71.

B2

011-44 0 0

Morphine is
A) Antibiotic B) Antipyretic C) Disinfectant D) Narcotic
T 3.
A) Fdd=fes B) fumis () feoghacc D) HTehifesh
Which medication is used during an attack of angina pectoris ?
A) Antibiotic B) Brufen C) Nitroglycerine D) Paracetamol
T YR 3TEeh ST 1 SR iV S9Y IR STTd 7
A) sifemfes B) T C) THficEtgs D) WifteHia
A decrease in volume and function of a tissue due to reduction in cell size is
A) Atrophy B) Hypertrophy  C) Neoplasia D) Hyperplasia
Ufier STTehR Y ST Idi R & STRRAT ATHE ATt SELufIe S FEurdTd ¢
A) T B) THUGH C) Taentia D) ERwwATEEn
scaler is used for removal of supra gingival calculus.
A) Hoe B) Eyelet C) Sickle D) File
Sheta guT SifSreed sheagerd SHhIGuamaTa aToR el Sl
A& B) 3 C) o D) ®Ed
Fluorides and pit and fissure sealants for caries prevention are
A) Primary prevention B) Specific prevention
C) Secondary prevention D) Tertiary prevention
A) WfEe s B) fafsrss=ma
C) 3o ¥ D) e s=e
Which of the following brushing technique is recommended in children ?
A) Bass technique _ B) Charter method
C) Stillman technique D) Fones technique
AT W IeTieh! ShIvTd ST s SaRosTe |iffidet St ?
A) dE B) =T Ugd
C) e as D) B
-10-
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73. Example of endogenous intrinsic stain

C - 011-44

A) Tobacco B) Tea
C) Amalgam D) Amelogenesis imperfecta
TSI ek T IETR v 7
A) TE1g B) =@l
! C) SH™ D) IS SFREE
74. Stippling is seen in
T A) Attached gingiva B) Col
C) Alveolar mucosa D) Muco-gingival junction
T (feafeim) ammsh fgm 49
A) FATugfrstian B) i
C) STeoeaTaR RIHMT D) =R -frsflaa siaem
75. Which of the following is used as a temporary restorative material ?
A) GIC B) Amalgam C) Composite D) ZnO-E
EiefieTdsh! T dTeqia Feekfed Hifec v ar &ial ?
A) GIC B) e C) HIETEE D) ZnO-E

76. Chisel is used with

A) Pull stroke "~ B) Push stroke C) Horizontal stroke D) Vertical stroke
RrireraT ST R Ed el Sa) ¢

A) A EH B) QU EI% C) eiEma & D) s&féwet ©ish

1. V_asoconstrictor used in local anesthetic

A) Adrenaline B) Methyl paraben

C) Camphor D) Lignocaine

Fere e e ed JTael SR Seaehi g aeT 3118

A) ST B) fad em

C) R D) fmi

“11=
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78. Area specific curette is

A) Gracey B) Universal C) Colombia

f Fiftre =

A) Wt B) gfeeddt C) hicifemr
79. Wide spread occurrence of disease in a community

A) Endemic : B) Epidemic

C) Communicable disease D) Fomite

GHTSTHEY HIST JHTOTG GERUTRT TSR 07T ?

A) Tt B) 3fucfi

C) FHIfhare fedisr D) ®HES
80. Father of Dental Hygeine

A) Pierre Fauchard  B) Alfred Fones C) John Last

ST ST HIV ?

A) TR e B) 3[@HEHE () WHARL

81. The following are types of dental notation system EXCEPT
A) Palmer system B) FDI system
C) Universal system D) IDA system

WIelerdeh! Ueh Aol §d Sl AN RIS YR 31

A) e fireen B) FDI freen C) oftres forem
82. Spherical shaped bacteria are called as
A) Bacilli B) Spiral C) Vibrio
TRt SRR ST h & FEUTTd ¢
A) st B) WREA C) f=fsrnt
83. No Tobacco day is celebrated on
A) 26 May B) 315t May C) 26t April
e Hfth feae wHeft wrer sher st ?
A) 269 B) 3179 C) 26 s
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D) @M

D) G.V.Black

D) Sfed . sl

D) IDA fireen
D) Cocci
D) @il
D) 315t April
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84. Mottled enamel is related to

A) Copper B) Tin C) Fluoride D) Iron
HIZee T HETsd Gl ford 3Te 7
A) & B) C) wiEE D) @E
4 85. Disclosing agent is used for detection of
A) Caries B) Plaque C) Periodontitis D) Gingivitis
“
| feraenfom ua 9 fiem shvaTaTd aTaE et STl
| A) Tasd B) frew (@) ©) fufmeifRdm D) iRk
|
‘l 86. The largest of the three divisions of trigeminal nerve is
. A) Facial nerve B) Mandibular nerve
C) Maxillary nerve D) Mental nerve
| St firre Sarear i farsmmieht wata @rer sm o ?
‘ A) ST = B) STt Adr
C) Fre=AT EeT =l D) aiafE =
87. The unit of measurement in bacteriology is
A) Micron B) Meter C) Centimeter D) None of the above
SFRETTs Heftet HISHTY SHT0aT= Ushah hIvd 7
A) A B) #iex C) HHI D) afietishl IvTaE! el
88. Vitamin D deficiency in children is called as
A) Pellagra B) Osteomalacia C) Rickets D) Scurvy
A © Sfaeca = HHatde Hid FEUdrd ¢
A) Yemn B) ffeamafimn C) f&hem D) Tl
‘ 89. Method of destroying infected waste material is
A) Autoclave B) Hot air oven  C) Sunlight D) Incinerator
HshTHeh Fa=Te ferdne AT Uga Hiord! ¢
A) JeEd B) THEAE 3eed  C) GAWHN D) FHRA

33
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95,

91.

92.
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. Enamel hypoplasia can be caused due to deficiency of
A) Vitamin A B) Vitamin B C) Vitamin C D) Vitamin D
ST TR AT T ATy es fmivr €1 Yiehd ¢
A) Sfiaad A B) sfta@c B C) sfteae C D) sfieE= D

The Consumer Protection Act came into force on

A) 15t Apr. 1987  B) 16M Apr. 1987 C) 17™ Apr. 1988 D) 18th Apr. 1988
TTeeh YL& el R ST AT HTE.

A) 15T%a 1987 B) 16 W@ 1987 C) 17T 1988 D) 18 Uit 1988

All are movements of the TMJ except in

A) Elevation B) Protrusion C) Depression D) Intrusion
o T SUTRTET S1eh d ZIuHsreaT gTerae 3. :

A) TfereeTH B) WigRH C) fesem D) T
Total number of bones in the body is

A) 200 B) 204 C) 206 D) 208
it erei v awe fehdt ?

A) 200 B) 204 C) 206 D) 208
Life span of Neutrophil is

A) 2-5 days B) 6-7 days C) Throughout life D) 24 hours
=2 fheera St s fohdl ¢

A) 2-5feam B) 6-7 faa® C) gypifemasw D) 24d™
The process of neutrophils engulf and degrade the bacteria and cellular debris is called
as

A) Opsonization B) Phagocytosis

C) Marginisation D) None of the above
A bT e ST S feire T i cger s AT S Fevrra ¢

A) AR B) W

SR IECIZENT] D) SRl hiorda ATl
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96. Taurodontism is a dental anomaly affecting

A) Size of tooth B) Shape of tooth
oS eem € <a g aer afonms
A) TAEAGREA  B) ST HAGRR

97. Genioglossus muscle is attached to
A) Mental protuberance

C) Genial spindle

SfRiTeeE TR e siedd Eard
A) Hed Meged
C) S fdea

=

98. Deficiency of iron in body is called
A) Diabetes

C) Anaemia

IO e FHAA T S FEUIATT

C -011-44

C) Number of teeth D) Structure of teeth

C) T Ee& D) g &

B)
D)

Lingula

Genial tubercle

B) ferpen
D) SfEre Zeeha

B)
D)

Ironaemia

None of the above

A) TR B) @ie dgd
C) agu D) sl el el
99. Cell rests of Mallassez is present in
A) Pulp B) Periodontal ligament
C) Enamel D) Gingiva
HieTRE ¥ & IMWed FHard
INK: S B) ufeieea femmiz
C) wd D) feten
100. Hunter-Schreger bands are an optical illusion seen in
A) Cementum B) Dentine C) Enamel D) Pulp
T -FhHITL oS8 B ALY ITGAVR AT e SogSH TR
A) fawien B) S8 C) ¥ud D) #HsSIl
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